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•  La	
  violazione	
  di	
  CP	
  è	
  aAesa	
  essere	
  molto	
  piccola	
  

Violazione	
  di	
  CP	
  nel	
  se3ore	
  del	
  quark	
  charm	
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AutostaH	
  	
  
di	
  sapore	
  

AutostaH	
  	
  
di	
  massa	
  

Matrice	
  CKM	
  
Parametrizzazione	
  di	
  Wolfenstein	
  fino	
  a	
  λ4	
  

Triangolo	
  unitario	
  per	
  il	
  charm	
   •  Nuove	
  parHcelle	
  non	
  presenH	
  nel	
  
Modello	
  Standard	
  possono	
  
introdurre	
  nuove	
  sorgenH	
  di	
  
violazione	
  di	
  CP	
  

•  Modelli	
  di	
  Nuova	
  Fisica	
  oltre	
  il	
  MS	
  	
  
prevedono	
  violazione	
  di	
  CP	
  fino	
  a	
  	
  
O(10-­‐2)	
  



Oscillazione	
  D0-­‐D0	
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Oscillazione	
  dei	
  mesoni	
  D0	
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•  Evidenze	
  sia	
  alle	
  B-­‐Factories	
  (2007)	
  	
  
sia	
  a	
  CDF	
  (2008):	
  

–  Nessuna	
  singola	
  misura	
  a	
  più	
  di	
  5σ	



•  L’evoluzione	
  temporale	
  descriAa	
  	
  
dall’equazione	
  di	
  Schrödinger:	
  

€ 

D0 D0 t( )
2
∝ e−Γt cosh yΓt( ) + cos xΓt( )[ ]

D 0 D0 t( )
2
∝ e−Γt cosh yΓt( ) − cos xΓt( )[ ]

Frequenza	
  di	
  
oscillazione	
  

•  x=0	
  e	
  y=0	
  	
  Nessuna	
  oscillazione	
  
•  La	
  violazione	
  di	
  CP	
  compare	
  nel	
  

miscelamento	
  quando	
  
–  |q/p|≠1	
  
–  arg(q/p)≠0	
  



Misura	
  dell’oscillazione	
  dei	
  mesoni	
  D0	
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•  È	
  possibile	
  misurare	
  l’oscillazione	
  sfruAando	
  l’interferenza	
  tra	
  
l’oscillazione	
  e	
  il	
  decadimento	
  doppio	
  Cabibbo	
  soppresso:	
  

•  Se	
  |x|,|y|<<1	
  e	
  nessuna	
  violazione	
  di	
  CP:	
  

δ	
  =	
  fase	
  forte	
  

R(t)	
  costante	
  nel	
  tempo	
  in	
  
assenza	
  di	
  oscillazione	
  



Misura	
  dell’oscillazione	
  dei	
  mesoni	
  
D0	
  a	
  LHCb	
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•  LHCb	
  [Phys.	
  Rev.	
  LeA.	
  110	
  (2013)	
  101802]:	
  

–  1	
  i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
  

–  D*±D0(f)π±	
  per	
  determinare	
  se	
  il	
  	
  
decadimento	
  è	
  “col	
  segno	
  correAo”	
  (RS)	
  o	
  
“col	
  segno	
  sbagliato”	
  (WS)	
  

– Misura	
  del	
  rapporto	
  R(t)=	
  NWS/NRS	
  
in	
  13	
  intervalli	
  del	
  tempo	
  di	
  	
  
decadimento	
  del	
  D0	
  



Misura	
  dell’oscillazione	
  dei	
  mesoni	
  
D0	
  a	
  LHCb	
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•  Errori	
  sistemaHci	
  piccoli:	
  
–  In	
  massima	
  parte	
  si	
  

cancellano	
  nel	
  
rapporto	
  

–  x’:	
  11%	
  di	
  σ(x’)	
  
–  y’:	
  10%	
  di	
  σ(y’)	
  

Prima	
  osservazione	
  da	
  
un	
  solo	
  esperimento	
  
dell’oscillazione	
  dei	
  
mesoni	
  D0	
  a	
  più	
  di	
  5σ	





Stato	
  sperimentale	
  pre-­‐LHCb	
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Stato	
  sperimentale	
  a3uale	
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A.	
  Schwartz	
  



Violazione	
  di	
  CP	
  integrata	
  
nel	
  tempo:	
  

ΔACP=ACP(D0K+K-­‐)-­‐ACP(D0π+π-­‐)	
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•  Ricerca	
  della	
  violazione	
  di	
  CP	
  come	
  asimmetria	
  tra	
  le	
  ampiezze	
  di	
  
decadimento	
  

•  Lo	
  stato	
  di	
  sapore	
  del	
  D0	
  si	
  determina	
  uHlizzando	
  	
  
i	
  decadimenH	
  D*D0(f)π	
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Violazione	
  di	
  CP	
  integrata	
  nel	
  tempo	
  	
  ΔACP	
  

€ 

ACP f( ) =
Γ(D0 → f ) −Γ(D0

→ f )
Γ(D0 → f ) +Γ(D0

→ f )

€ 

f = K +K −,π +π−

€ 

Araw f( ) =
N(D*+ →D0( f )πs

+) − N(D*− →D0( f )π s
−)

N(D*+ →D0( f )πs
+) + N(D*− →D0( f )π s

−) D*± 

D0 

π lento	
  

K/π	



K/π	



IP(K/π)	
  

Asimmetria	
  di	
  CP	
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Violazione	
  di	
  CP	
  integrata	
  nel	
  tempo	
  	
  ΔACP	
  

€ 

ACP f( ) =
Γ(D0 → f ) −Γ(D0

→ f )
Γ(D0 → f ) +Γ(D0

→ f )

€ 

f = K +K −,π +π−

€ 

Araw f( ) =
N(D*+ →D0( f )πs

+) − N(D*− →D0( f )π s
−)

N(D*+ →D0( f )πs
+) + N(D*− →D0( f )π s

−) D*± 

D0 

π lento	
  

K/π	



K/π	



IP(K/π)	
  

Asimmetria	
  di	
  CP	
   Asimmetria	
  di	
  rivelazione	
  dello	
  stato	
  finale.	
  
Nulla	
  per	
  definizione	
  per	
  staH	
  finali	
  auto-­‐

coniugaH	
  di	
  carica	
  (π+π-,K+K-)	
  

•  Ricerca	
  di	
  violazione	
  di	
  CP	
  come	
  asimmetria	
  tra	
  le	
  ampiezze	
  di	
  
decadimento	
  

•  Lo	
  stato	
  di	
  sapore	
  del	
  D0	
  si	
  determina	
  uHlizzando	
  	
  
i	
  decadimenH	
  D*D0(f)π	
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  CP	
  

•  Ricerca	
  di	
  violazione	
  di	
  CP	
  come	
  asimmetria	
  tra	
  le	
  ampiezze	
  di	
  
decadimento	
  

•  Lo	
  stato	
  di	
  sapore	
  del	
  D0	
  si	
  determina	
  uHlizzando	
  	
  
i	
  decadimenH	
  D*D0(f)π	



Asimmetria	
  di	
  
rivelazione	
  del	
  πs	
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  di	
  CP	
  integrata	
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  di	
  CP	
  

•  Ricerca	
  di	
  violazione	
  di	
  CP	
  come	
  asimmetria	
  tra	
  le	
  ampiezze	
  di	
  
decadimento	
  

•  Lo	
  stato	
  di	
  sapore	
  del	
  D0	
  si	
  determina	
  uHlizzando	
  	
  
i	
  decadimenH	
  D*D0(f)π	



Asimmetria	
  di	
  
rivelazione	
  del	
  πs	
  

Asimmetria	
  di	
  produzione	
  da	
  
considerare	
  nel	
  caso	
  di	
  

collisionatori	
  p-­‐p	
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Violazione	
  di	
  CP	
  integrata	
  nel	
  tempo	
  	
  ΔACP	
  

IFAE2013	
  -­‐	
  Cagliari	
  

•  La	
  differenza	
  tra	
  le	
  asimmetrie	
  è	
  una	
  quanHtà	
  
molto	
  robusta	
  da	
  un	
  punto	
  di	
  vista	
  
sperimentale:	
  

– Le	
  asimmetrie	
  di	
  rivelazione	
  del	
  pione	
  lento	
  e	
  di	
  
produzione	
  si	
  cancellano	
  nella	
  differenza	
  

€ 

ΔACP ≡ Araw (KK) − Araw (ππ) = ACP (KK) − ACP (ππ)

IFAE2013	
  -­‐	
  Cagliari	
  



ΔACP	
  a	
  CDF	
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1.2M	
  D*D0(KK)π	
  
550K	
  D*D0	
  (ππ)π	



CDF:	
  9.7	
  i-­‐1	
  @	
  √s	
  =	
  1.96	
  TeV	


PRL	
  109	
  (2012)	
  111801	
  

•  Risultato	
  precedente	
  	
  
[PRD	
  85	
  (2012)	
  012009]:	
  
–  5.9	
  i-­‐1	
  @	
  √s	
  =	
  1.96	
  TeV	
  

–  Misura	
  individuale	
  delle	
  asimmetrie	
  
per	
  i	
  due	
  decadimenH	
  



ΔACP	
  a	
  fine	
  2012	
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BaBar:	
  Phys.	
  Rev.	
  LeA.	
  100	
  (2008)	
  
Belle:	
  arXiv:1212.5320	
  
CDF:	
  Phys.	
  Rev.	
  LeA.	
  109	
  (2012)	
  	
  
LHCb:	
  Phys.	
  Rev.	
  LeA.	
  108	
  (2012)	
  	
  

Media	
  eseguita	
  
trascurando	
  la	
  
componente	
  
indireAa	
  di	
  ΔACP	
  

Evidenza	
  di	
  violazione	
  di	
  CP	
  
direAa	
  a	
  4.6σ	





Nuove	
  misure	
  di	
  LHCb	
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•  D*D0(f)πs	
  	
  
(LHCb-­‐CONF-­‐2013-­‐003):	
  
-  L	
  =	
  1	
  i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
  

-  Sapore	
  del	
  D0	
  oAenuto	
  dalla	
  
carica	
  del	
  π	
  lento	
  da	
  D*	
  

-  Asimmetria	
  di	
  rivelazione	
  del	
  π	
  
lento	
  

-  Asimmetria	
  di	
  produzione	
  del	
  D*	
  

•  BD0(f)µνX	
  	
  
(arXiv:1303.2614):	
  
-  L	
  =	
  1	
  i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
  

-  Sapore	
  del	
  D0	
  oAenuto	
  dalla	
  
carica	
  del	
  µ	
  da	
  B	
  

-  B	
  ricostruito	
  parzialmente	
  
-  Asimmetria	
  di	
  produzione	
  del	
  B	
  
-  Asimmetria	
  di	
  rivelazione	
  del	
  µ	



•  Due	
  misure	
  indipendenH	
  di	
  ΔACP:	
  

€ 

Araw f( ) = ACP f( ) + AD πs( ) + AP D*( )

€ 

Araw f( ) = ACP f( ) + AD µ( ) + AP B( )



•  SistemaHco	
  dominante	
  0.08%:	
  

-  Dipendenza	
  di	
  ΔACP	
  da	
  IPχ2	
  del	
  
pione	
  lento	
  

Nuove	
  misure	
  di	
  LHCb	
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559K	
  D0KK	
   222K	
  D0ππ	

2.2M	
  D0KK	
   0.7M	
  D0ππ	



•  SistemaHco	
  dominante	
  0.11%:	
  

-  Fondo	
  nel	
  D0ππ	
  a	
  brevi	
  tempi	
  
di	
  decadimento	
  del	
  D0	
  



•  	
  

•  Controlli	
  sulla	
  stabilità	
  di	
  ΔACP:	
  
-  Dipendenza	
  dal	
  periodo	
  di	
  presa	
  

daH	
  
-  Dipendenza	
  da	
  	
  varie	
  quanHtà	
  

ricostruite	
  
-  Tempo	
  di	
  decadimento	
  del	
  D0	
  

-  Distanza	
  di	
  volo	
  del	
  B	
  
-  Massa	
  ricostruita	
  D0-­‐µ	


-  Angolo	
  tra	
  i	
  prodoy	
  del	
  D0	
  e	
  il	
  µ	


-  Molte	
  altre…	
  

-  SHmata	
  la	
  probabilità	
  di	
  associare	
  
un	
  muone	
  casuale	
  	
  effeAo	
  
trascurabile	
  

Nuove	
  misure	
  di	
  LHCb	
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•  	
  

•  Controlli	
  sulla	
  stabilità	
  di	
  ΔACP:	
  
- Dipendenza	
  dal	
  periodo	
  di	
  presa	
  daH	
  
- Dipendenza	
  da	
  varie	
  quanHtà	
  
ricostruite:	
  
- pT	
  del	
  D0	
  

- η	
  del	
  D0	
  

- p	
  del	
  D0	
  

- pT	
  del	
  π	
  lento	
  
- Molte	
  altre…	
  

- Analisi	
  eseguita	
  su	
  campioni	
  Monte	
  
Carlo	
  di	
  elevata	
  staHsHca	
  
- La	
  differenza	
  rispeAo	
  al	
  risultato	
  
precedente	
  è	
  stata	
  studiata	
  nel	
  
deAaglio	
  



•  Il	
  valore	
  oAenuto	
  nell’analisi	
  dei	
  decadimenH	
  D*D0(f)π	
  è	
  
più	
  vicino	
  a	
  zero	
  rispeAo	
  al	
  risultato	
  precedente	
  

•  Differenze:	
  

–  AggiunH	
  0.4/i	
  

–  Nuova	
  calibrazione	
  del	
  rivelatore	
  (idenHficazione	
  delle	
  
parHcelle	
  e	
  allineamento)	
  

–  Nuovo	
  metodo	
  di	
  calcolo	
  della	
  massa	
  invariante	
  

•  D*	
  vincolato	
  al	
  verHce	
  primario	
  	
  miglior	
  risoluzione	
  in	
  massa	
  
invariante	
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Differenze	
  col	
  risultato	
  precedente	
  

ΔACP	
  =	
  (−0.34	
  ±	
  0.15	
  ±	
  0.10)%	
  ΔACP	
  =	
  (−0.82	
  ±	
  0.21	
  ±	
  0.11)%	
  
0.6/i	
   1/i	
  



•  Nuove	
  calibrazioni:	
  
– Persi	
  15%	
  (KK)	
  e	
  14%	
  (ππ)	
  
– AggiunH	
  17%	
  (KK)	
  e	
  34%	
  (ππ)	
  
– Campione	
  comune	
  (~85%):	
  

•  ΔACP	
  =	
  (-­‐0.80	
  ±	
  0.23)%	
  	
  ΔACP	
  =	
  (-­‐0.78	
  ±	
  0.23)%	
  

– Campione	
  comune	
  +	
  evenH	
  guadagnaH:	
  	
  
•  ΔACP	
  =	
  (-­‐0.55	
  ±	
  0.21)%	
  

– Tuy	
  i	
  soAocampioni	
  risultano	
  staHsHcamente	
  
compaHbili	
  tra	
  loro	
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Differenze	
  col	
  risultato	
  precedente	
  



•  Nuovi	
  0.4/i:	
  
–  ΔACP	
  =	
  (-­‐0.28	
  ±	
  0.26)%	
  

•  Risultato	
  sul	
  campione	
  completo	
  (1/i):	
  
–  ΔACP	
  =	
  (-­‐0.45	
  ±	
  0.17)%	
  

•  Vincolando	
  la	
  direzione	
  del	
  D*	
  verso	
  il	
  verHce	
  
primario:	
  
–  Variazione	
  di	
  ΔACP	
  ~	
  0.11	
  %	
  	
  
–  AAesa	
  essere	
  0.05%	
  	
  studiata	
  tramite	
  pseudo-­‐
esperimenH	
  Monte	
  Carlo	
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Differenze	
  col	
  risultato	
  precedente	
  

La	
  differenza	
  rispeAo	
  al	
  risultato	
  precedente	
  è	
  ben	
  compresa	
  
e	
  riconducibile	
  ad	
  una	
  fluAuazione	
  staHsHca	
  



Media	
  LHCb	
  

•  BD0(f)µνX	
  (arXiv:1303.2614):	
  
-  L	
  =	
  1	
  i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
  

Stato	
  sperimentale	
  aggiornato	
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•  D*D0(f)πs	
  (LHCb-­‐CONF-­‐2013-­‐003):	
  
-  L	
  =	
  1	
  i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
  

•  Le	
  due	
  misure	
  differiscono	
  di	
  2.2σ:	
  
-  I	
  due	
  campioni	
  sono	
  totalmente	
  indipendenH	
  

€ 

ΔACP = −0.33 ± 0.12( )%

ΔACP	
  =	
  (-­‐0.15	
  ±	
  0.16)%	
  

•  Nuovo	
  stato	
  sperimentale:	
  

(trascurando	
  la	
  componente	
  
indireAa	
  di	
  violazione	
  di	
  CP)	
  



Conclusioni	
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•  Le	
  macchine	
  adroniche	
  hanno	
  dimostrato	
  di	
  poter	
  
realizzare	
  un	
  programma	
  di	
  fisica	
  del	
  charm	
  di	
  grande	
  
interesse	
  
–  LHCb	
  ha	
  recentemente	
  osservato	
  l’oscillazione	
  del	
  D0	
  con	
  una	
  

significaHvità	
  di	
  circa	
  10σ	


–  	
  LHCb	
  e	
  CDF	
  molto	
  ayvi	
  nella	
  ricerca	
  di	
  violazione	
  di	
  CP	
  nel	
  

charm	
  
•  I	
  recenH	
  aggiornamenH	
  	
  (L=1/i)	
  di	
  LHCb	
  riducono	
  la	
  differenza	
  da	
  
zero	
  di	
  ΔACP,	
  	
  da	
  4.6σ	
  	
  ~2.8σ	
  	
  

•  ancora	
  altri	
  2/i	
  	
  da	
  analizzare	
  
–  Ricerca	
  di	
  violazione	
  di	
  CP	
  molto	
  ayva	
  anche	
  nei	
  decadimenH	
  

del	
  D0	
  a	
  molH	
  corpi	
  
•  D0KSππ	
  (CDF),	
  D0ππππ	
  (LHCb),	
  D+Φπ+	
  (LHCb),	
  	
  
DS

+KSπ+	
  (LHCb)…	
  
–  Presto	
  aggiornamenH	
  da	
  LHCb	
  sulla	
  ricerca	
  di	
  violazione	
  di	
  CP	
  

indireAa	
  	
  
•  AΓ	
  &	
  yCP…	
  	
  

Conclusioni	
  



Riserve	
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Violazione	
  di	
  CP	
  nel	
  se3ore	
  del	
  quark	
  charm	
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•  Diversi	
  modi	
  di	
  osservare	
  la	
  	
  
violazione	
  di	
  CP	
  

•  Violazione	
  di	
  CP	
  direAa:	
  
–  Differenza	
  nelle	
  ampiezze	
  di	
  	
  

decadimento	
  tra	
  processi	
  	
  
coniugaH	
  di	
  carica	
  

–  Nasce	
  dall’interferenza	
  tra	
  i	
  	
  
diagrammi	
  ad	
  albero	
  e	
  i	
  	
  
diagrammi	
  a	
  pinguino	
  

–  Nel	
  modello	
  standard	
  è	
  aAesa	
  essere	
  piccola:	
  
•  Trascurabile	
  nei	
  decadimenH	
  Cabibbo	
  favoriH	
  	
  dominaH	
  dai	
  diagrammi	
  ad	
  albero	
  

•  Nei	
  decadimenH	
  Cabibbo	
  soppressi	
  aAesa	
  O(10-­‐3	
  –	
  10-­‐4)	
  

•  Violazione	
  di	
  CP	
  indireAa:	
  
–  Nell’oscillazione:	
  ratei	
  differenH	
  per	
  i	
  processi	
  D0D0	
  e	
  D0D0	
  	
  

–  Nell’interferenza	
  tra	
  l’oscillazione	
  e	
  il	
  decadimento	
  

–  Anche	
  in	
  questo	
  caso	
  aAesa	
  piccola	
  	
  O(10-­‐3)	
  

Diagramma	
  ad	
  albero	
   Diagramma	
  a	
  pinguino	
  



ACP(KK)	
  e	
  ACP(ππ)	
  a	
  CDF	
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CDF:	
  9.7	
  i-­‐1	
  @	
  √s	
  =	
  1.96	
  TeV	



Miglioramento	
  di	
  circa	
  
15%	
  sulla	
  precisione	
  di	
  

ACP(ππ)	
  e	
  ACP(KK)	
  rispeAo	
  
alla	
  misura	
  con	
  5.9/i	
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DS
+KSπ+	
  &	
  D+Φπ+	
  



•  CDF	
  [PRD	
  86	
  (2012)	
  032007]:	
  
–  D*D0	
  (KSπ+π-­‐)π	
  per	
  definire	
  il	
  sapore	
  del	
  D0	
  

•  350k	
  D0;	
  6i-­‐1	
  @	
  √s	
  =	
  1.96	
  TeV	
  
–  Due	
  metodi	
  di	
  misura:	
  

•  UHlizzo	
  del	
  modello	
  isobaro	
  per	
  descrivere	
  i	
  contribuH	
  delle	
  	
  
varie	
  risonanze	
  sul	
  plot	
  di	
  Dalitz	
  

•  Analisi	
  bin-­‐per-­‐bin	
  dei	
  plot	
  di	
  Dalitz	
  per	
  i	
  due	
  staH	
  coniugaH	
  di	
  	
  
carica	
  

–  Controllo	
  delle	
  variazioni	
  di	
  efficienza	
  sul	
  piano	
  di	
  Dalitz	
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D0KSπ+π-­‐	
  

•  SignificaHvo	
  miglioramento	
  rispeAo	
  	
  
ai	
  precedenH	
  risultaH	
  di	
  CLEO	
  	
  
[PRD	
  70	
  (2004)	
  091101]	
  

•  Nessuna	
  evidenza	
  di	
  violazione	
  di	
  CP	
  

Asimmetria	
  integrata	
  



•  LHCb	
  [LHCb-­‐CONF-­‐2012-­‐019]:	
  
–  Selezione	
  basata	
  su	
  NN	
  
–  1.3	
  M	
  di	
  D0K+π-­‐π+π-­‐	
  come	
  canale	
  	
  

di	
  controllo	
  
–  4	
  corpi:	
  misurata	
  l’asimmetria	
  di	
  CP	
  	
  

in	
  bin	
  del	
  plot	
  di	
  Dalitz	
  a	
  	
  
5	
  dimensioni	
  

–  3	
  differenH	
  definizioni	
  dei	
  bins	
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D0π+π-­‐π+π-­‐	
  

Nessuna	
  evidenza	
  di	
  violazione	
  di	
  CP	
  



•  LHCb	
  [arXiv:1303.4906]	
  soAomesso	
  a	
  JHEP:	
  
–  1i-­‐1	
  @	
  √s	
  =	
  7	
  TeV	
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DS
+KSπ+	
  &	
  D+Φπ+	
  

Canale	
  di	
  controllo	
  	
  
per	
  estrarre	
  AD(π±)	
  

Violazione	
  di	
  CP	
  a3esa	
  trascurabile	
  

Contributo	
  dovuto	
  alla	
  
violazione	
  di	
  CP	
  nel	
  K0	
  

€ 

ACP D+ →φπ +( ) = −0.04 ± 0.14 ± 0.13( )%

ACP Ds
+ →KSπ

+( ) = +0.61± 0.83 ± 0.13( )%

SignificaHvo	
  miglioramento	
  ma	
  
nessuna	
  evidenza	
  di	
  violazione	
  di	
  CP	
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